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1. (6 points) For each ODE below, determine its order, then place a checkmark if it is linear.

Order Linear?

(y0)2 + y = t

2y � 3y0t = 4yt

d2y

dt2
� 5t10 = 2 cos(3t)

y000 =
(t� 1)

2

5y � 2

2. (8 points) Solve the initial value problem.

y0 = 3y2t, y(0) = 10
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3. (3 points) Circle the ODE that corresponds with the following slope field.

a) y0 = 3� t

b) y0 = y + ty

c) y0 = t(2� y)2

d) y0 = t2 � y
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4. (3 points) Sketch a solution curve through the slope field above, that passes through

the point (0, 1). Be sure to draw the curve both to the left and to the right. Be precise.
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